FLbE TR m R P ER L1 2 R SR R T R

HEBE113F1H20H#£ £ 11242516 H 1

EH— HHEiT 2HI= S HAMY 2HiH SHAZS 2HAH
1H15H 1H16H 1517H 1H18H 1H19H 1H20H 1H21H
REX<F> ESEEEE 1LELHIEE — K<
L—HREERE R [G>
NEBR<E>
2B HIE—R<Eh
>
1H22H 1H23H 1 524H 1H25H 1H26H 1H27H 1H28H
LEHIEE = R< (LB =RERH RPIERY (1m B E R
o> IR SRR B R R aESS (< B>
2. B EEREE R | <R >
<> 2.5 HEEREE R<E>
BERIERE 3IBRRITREIRRF/12
2> GEED<fH>
4. GRSZ L1Z4Hf [4. EFEH<S>
W SR — 5. SR E R A R
(E)<E> B R HIE 2Ry
5.0 = ZEHHEEHAE |[E:16:00~17:30<>
<E> 6.GRSZ L1Z Nt E
R—(ED<E>
1H29H 1 H30H 1531H 2H1H 2H2H 2H3H 2H4H
1.GRSZL1ZAN |GRSZLIZEIHES X (&S
WESE = —(EHN<E> LR THm DRk AR 1/12
(E)<&E> GERD<fE>
2H5H 2H6H 2H7H 2H8H 2H9H 2H10H 2H11H




L.ETHEES || TREH> 1.5 —PEEGRE |[“EERata 5% H— #—
SH<f> EERR HEE | e E & <SE (B EL 2N [ EEREL X |EEiEE e
1k > HE<JTE> HE<JTE> A< JTE>
2RI TR (R
/126550 <>
28 12H 28 13H 27 14H 2H15H 2H16H 2817H 23 18H
= jus; #H 1R H .52 H PR BE2ERHAV KR
ZEREZE | BEREZEKESDS | EEREZ 2K 2 g H<aE> 2. 55— PR ELERAE <fiE>
KR <[> <> SHIWIRIBEER<T | RaTz5E
4.2/15-2/18 1/ N iE < | 1F
> 5.CRCEHIMHE |3. 38 MR E<E%
<fi> >




